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BTOW tower, Et>2.0 GeV (input)
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|diJet Et (accepted)|
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|diJet delZeta vs. etal (accepted) | entries  TaTe |diJet eta2 vs. etal (a chiies TaTe
. 1 I .

eany 8.332 0

Mean

60

50

x: iEta2 [-1,+2]

40

y: delta zeta (rad*10)

30

0 T | | T | | T | | 111 | 11 | 11 | 111 | 1 O
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]

|diJet delZeta vs. avrPhi (accepted) | Enties 7478 | [total Et diJet (accepted)] Entries 7478

EREITIIT I e -{Meany  30.86

‘|Mean 19.27

VSR SO | S SR S s

...............................

I S S —°0 5O0f— oo SR SR B S S S

40 400f—----eeee AN I N N R S S
10 e e ::q S A R ;
- -- 30 - : . . . .

30—+ R R IR s

y: delta zeta (rad*10)

TR OO A A T B 200F oo e s

10 100f -+ R S S — —

1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O O 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 | | | I | L 1 1 11
1O 5 10 15 20 25 30 0 10 20 30 40 50 60
x: (iphil+iphi2)/2 (12 deg/bin) x: Et (GeV)



